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Froblem @ Assuming that the desired nnal state ol a discrete system represented by

0 1 0 0 1
A=) -2 3 1, B=|1}|, x(0)=1|1
-1 0 1 2 1

isx(3)=[0 -1 1 ]T find the control sequence that transfers the system from x(0) to x(3).

SoruTioN: Let us start with equation (5.18) for n = 3, i.e.
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x(3)—=A%x(0)=[ B AB A’B ]| u(l)
u(0)
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[ -1 3 1 -7 8 4
A? = -4 7T 4|, A’ =1| <10 17 11
-1 =11 1 -4 0

the previous equation becomes

-5 01 57w
{49}:{1515}{@1)}
4 2 2 1 u(0)

The solution of this system gives the required control sequence as

u(2) 0.5455
w(l) | = | =2.9727
u(0) —0.5455
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